Answer Key

Name Date

MULTIPLYING INTEGERS 2 (# O .O B
Find each product. ®° ., O

5x8=_ “40 ax(-4)=_ 16 Nx(3)=_ ~33
2x(7)=_ -14 6x9=__ 94 ox(10)=__ 90
12x(-4)=__~48 8x(7)=__ 26 sx0=_ 0
6x(-5)=__ 30 ex7=_ -42 dx9=_ 9

9 x (-8) = 72 10 x (-11) = -110 3x(-7) = 21
5x12=__ ~60 4x(a0)=__ 40 7x(a2)=  ~84
q0x3=__ -30 7x(7)=__ ~49 9x(5) = 45
10x(-8)=__ -80 2x(12) = 144 Mx9)=__ 99
2x(-60)=__ 120 5x(-40)=_ ~200 80 x (-20) =~ 1,600
25x(-4)=___ 100 _90x30= ~2,700 10x70= ~700
_60x(-6)=__ 360 _40xg= 320 30x(50)= 1,500

3x(-80)=__~240

70x (o0 6300

25 x (-80) = '2,000
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